
Japan has the highest life expectancy in the
world of 85.03 years of both females and

males independently males’ life expectancy is
81.91 years and independently life expectancy
of females is 88.09. (Note: the Japan has the
highest life expectancy If Hong Kong isn’t
taken in to the account because of many

people not considering it its own country.

Religion Shintoism 70.4%, Buddhism 69.8%,
Christianity 1.5%, other 6.9% (the percentage
doesn’t add up because some a lot of people

practice more then one religion.

JapanJapan

In 2022 population of Japan is     
125 556 000 

Ethnic group percentage in Japan are
98.5% Japanese, Chinese 0.5%, Korean 0.4%,
other 1% (includes Filipino, Vietnamese, and

Brazilian ethnic groups)

Official language: Japanese 

Area of japan is 377,915 km²

population density of japan is 332
people per km²

capital of japan is tokyo



birth rate of japan is 0.6%
(840 835 births in 2020)

death rate of japan is 1%
(1 372 648 deaths in japan in 2020)

Growth rate of japan is -4%

Cutting in half time is 175 years

infant morality rate is 1 684 deaths per 1000 births

population pyramid

Fun factsFun facts
Of about 60,000 centenarians in Japan, 52,000 are women (Jun hongo 2015

80% of japan's population was born after ww2

around 1500 earthquakes occur in japan every year



Q & AQ & A
1) What are the reasons for the current population structure?
Economy is the main reason of why Japan is now experiencing decline at its population.
“Oyaji” is a Japan term for describing a man which is breadwinner for the family and in
current economical state it is hard for the man alone to support and feed his family. This
leaves men with stress and feel of being trapped in their job. There is a thing that makes it
even worse, that woman can’t work and have children at the same time. The reason why
Japan people don’t have children is that it is economically impossible. However, there is
another reason for Japan population decline. Immigration in Japan is a difficult task,
reason of that being that only skilled foreigners can be employed in Japan. It might have
been not a problem if Japan didn’t need them. Those jobs aren’t taken by the Japanese
people but Japan still need those jobs to be taken. Those jobs are provided with the poor
living condition therefore foreigners don’t want to immigrate for those jobs. In
conclusion there are not a lot people born inside the Japan and outside of Japan no one
is immigrating it resulting in a decline of population. 

2) Are there any issues for the country with the existing population structure?
The issue that Japan right now is facing, reasons of which were already described, is
decline in population. Starting in 2010 amount of people living in Japan was decreasing.
Number wise Japan’s population in 2010 was 128.5 million people. In 2022 this number fell
down to 125.5 people. If this trend is going to continue the way it is going in 2065, Japan
will receive 30% decline in 45 years dropping up to 88 million people. 

3) the official government solution presented and published first in 2007. In this solution
there was said that in 2025 common Japanese family will consist of husband, wife,
husband’s parents, one son, one daughter and a robot (Mark Mohr). No matter how
ridiculous that might sound this is the real solution provided by the government called
Innovation 25. Japan is known for its innovations in robotics however this plan will not
solve completely the problem. For Japan’s government it is better to focus on improving
their economic system and make having a child affordable. When people will have to worry
on if they can or not have a child. Government may also focus on making possible for
woman to work while still having a child. In short the solution the researcher provides is
that government should focus on improving conditions in which people will be able to
have a baby. 


